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طرح الأعداد الصحيحية 



1 

ورقة عمل 

الرياضيات 

:جد ناتج ما يلي: 1س

①    12 − 20 =

②    − 14 − 18 =

③    − 45 − (−45) =

④    19 − (−17) =

⑤    100 − 55 =

⑥    |−36| − 70 =

⑦    19 − 32 =

:ضع العدد المناسب في : 2س

①   − 10 = −6

②   + (−3) = −8

③   − 4 = 5

④   + (−10) = 10

⑤   + (−5) = −3
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ورقة عمل 

الرياضيات 

:جد ناتج ما يلي: 1س

①    12 − 20 = 12 +  −20 =

②    − 14 − 18 = −14 +  −1 = −32

③    − 45 − (−45) = −45 + 45 = 0

④    19 − (−17) = 19 + 17 = 36

⑤    100 − 55 = 100 +  −55 = 45

⑥    |−36| − 70 = 36 +  −70 = −34

⑦    19 − 32 = 19 +  −32 = −13

:ضع العدد المناسب في : 2س

① 4 − 10 = −6 10 +  −6 = 4

② −5 + (−3) = −8 −8 −  −3 = −5

③ 9 − 4 = 5 5 + 4 = 9

④ 20 + (−10) = 10 10 −  −10 = 20

⑤ 2 + (−5) = −3 −3 −  −5 = 2




